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QUESTION 1

You want to ensure high availability of the Junos devices in your data center.

In this scenario, which three features would accomplish this task? (Choose three.)
A. Virtual Router Redundancy Protocol

B. Multiple Spanning Tree Protocol

C. dual Routing Engines

D. virtual private LAN service

E. graceful Routing Engine switchover

Correct Answer: ACE

QUESTION 2

What are two valid types of VXLAN signaling? (Choose two.)
A. EVPN

B. RSVP

C.RSTP

D. MPLS

Correct Answer: AD

QUESTION 3

You are designing a network for a small data center.

In this scenario, which underlay protocol allows for the simplest implementation?
A. OSPF

B. IBGP

C. EBGP

D. MPLS

Correct Answer: C

QUESTION 4
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You are implementing perimeter security for your data center. You need to inspect all traffic at Layer 7 and ensure the
failure of a port or device will not result in an interruption to traffic flows.

In this scenario, which design would satisfy these requirements?
A. SRX using LAG

B. MX with MC-LAG

C. QFX Virtual Chassis

D. SRX chassis cluster

Correct Answer: D

QUESTION 5

You are troubleshooting an L3VPN that is part of an EVPN/MPLS DCI. You notice that the EVPN overlay BGP session
toward 10.29.50.4 is unable to establish.

VPN.inet.0O: 15 destinations, 1l routes (15 active,
0 holddown, 1 hidden)
10.29.50.4/32 (2 entries, 1 announced)
Import Accepted
Route Distimguisher: 65000:12345
VPN Label: 16
Nexthop: 192.168.5.5

MED: 3
Localpref: 100
AS path: I

Communities: target:65000:12345 rte-
type:0.0.0,0:1:0

Why is the BGP session failing to establish?

A. The vrf-table-label value is not configured in the remote PE.
B. The route-distinguisher value on the local PE is incorrect.
C. There is no route for 192.168.5.5 in inet.3.

D. There is no route for 192.168.5.5 in VPN.inet.0.

Correct Answer: A
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